Date: 4/2/2024

Time: 1:56:42 PM CDT Page 1/148

D PRESIDENT OF THE UNITED STATES (DEMOCRATIC)

	(DEMO	CRATIC	;)									
	Reg. Voters	Total Votes	JOSEPH BIDEN J		DEAN PHILLIPS		MARIAN WILLIAN		FRANK "FRANKI LOZADA	E"	Over votes	Under
Jurisdiction Wide	V 01010	V 0100	DIDLITO	1.	i i ii EEii C	,	VVILLI/ (IV	00.1	LOZADA		10100	1000
BARR	224	4	3	75.00%	0	-	0	-	1	25.00%		0 2
BIRD	225	10	10	100.00%	0	-	0	-	0	-		0 0
BRIGHTON 1	924	31	29	93.55%	0	-	1	3.23%	1	3.23%		o o
BRIGHTON 2	994	28	24	85.71%	3	10.71%	1	3.57%		-		0 1
BRIGHTON 3	857	27	26	96.30%	0	-	1	3.70%	0	-		0 4
BRUSHY MOUND	549	26	23	88.46%	0	-	3	11.54%	0	-		0 1
BUNKER HILL 1	717		25	92.59%		7.41%	0	-	0	-		0 0
BUNKER HILL 2	734	32	29	90.62%	0	-	3	9.38%	0	-		0 0
BUNKER HILL 3	720	39	32	82.05%	5	12.82%	2	5.13%	0	-		0 1
CAHOKIA 1	1014	54	48	88.89%	3	5.56%	3	5.56%	0	-		1 3
CAHOKIA 2	1072	93	85	91.40%	2	2.15%	3	3.23%	3	3.23%		0 8
CARLINVILLE 1	982	64	60	93.75%	2	3.12%	2	3.12%	0	-		0 2
CARLINVILLE 2	746	50	49	98.00%	0	-	1	2.00%	0	-		0 3
CARLINVILLE 3	970	42	38	90.48%	3	7.14%	0	-	1	2.38%		0 4
CARLINVILLE 4	817	41	39	95.12%	1	2.44%	1	2.44%	0	-		0 5
CARLINVILLE 5	637	32	28	87.50%	0	-	2	6.25%	2	6.25%		0 5
CHESTERFIELD	493	25	15	60.00%	2	8.00%	6	24.00%	2	8.00%		0 4
DORCHESTER	1043	50	43	86.00%	4	8.00%	1	2.00%	2	4.00%		0 5
GILLESPIE 1	778	51	46	90.20%	1	1.96%	2	3.92%	2	3.92%		0 5
GILLESPIE 2	980	71	61	85.92%	5	7.04%	2	2.82%	3	4.23%		0 7
GILLESPIE 3	749	49	42	85.71%	1	2.04%	6	12.24%	0	-		0 5
GIRARD 1	748	36	34	94.44%	0	-	1	2.78%	1	2.78%		0 2
GIRARD 2	610	29	28	96.55%	1	3.45%	0	-	0	-		0 1
HILYARD	437	15	15	100.00%	0	-	0	-	0	-		0 1
HONEY POINT	125	10	9	90.00%	0	-	1	10.00%	0	-		0 0
MT. OLIVE 1	720	32	29	90.62%	1	3.12%	2	6.25%	0	-		0 2
MT. OLIVE 2	778	53	50	94.34%	2	3.77%	1	1.89%	0	-		0 8
MT. OLIVE 3	350	23	20	86.96%	1	4.35%	1	4.35%	1	4.35%		0 1
MT. OLIVE 4	366	29	28	96.55%	0	-	0	-	1	3.45%		0 0
NILWOOD	394	11	9	81.82%	1	9.09%	1	9.09%	0	-		0 0
NORTH OTTER	633	25	23	92.00%	1	4.00%	1	4.00%	0	-		0 0
NORTH PALMYRA	548	15	14	93.33%	1	6.67%	0	-	0	-		1 0
POLK	473	15	14	93.33%	0	-	1	6.67%	0	-		0 3
SCOTTVILLE	218	6	4	66.67%	1	16.67%	1	16.67%	0	-		0 1
SHAWS POINT	391	32	31	96.88%	1	3.12%	0	-	0	-		0 0
SHIPMAN	873	38	33	86.84%	4	10.53%	1	2.63%	0	-		0 5
SOUTH OTTER	347	7	5	71.43%	1	14.29%	1	14.29%	0	-		0 1
SOUTH PALMYRA	485	20	15	75.00%	0	-	4	20.00%	1	5.00%		0 2
STAUNTON 1	1159	58	50	86.21%	4	6.90%	3	5.17%	1	1.72%		0 1
STAUNTON 2	767	29	28	96.55%	0	-	0	-	1	3.45%		0 1
STAUNTON 3	936	46	42	91.30%	1	2.17%	1	2.17%	2	4.35%		0 6

Date: 4/2/2024

Time: 1:56:42 PM CDT

Page 145/148

R STAUNTON 4 COMMITTEEPERSON

	_	(REPUBLICAN)									
	Reg. Voters	Total Votes	No Candidate	Over votes	Under votes						
Jurisdiction Wide		•	•								
STAUNTON 4	823	0	0	-	0 0						
Total	823	0	0		0 0						

Date: 4/2/2024

Time: 1:56:42 PM CDT

Page 146/148

		R VIRDEN 1 COMMITTEEPERSON (REPUBLICAN)							
	Reg. Voters	Total Votes	BERNARD KIEL	Over votes	Under votes				
Jurisdiction Wide VIRDEN 1	1138	87	87 100.00%	5 0	5				
Total	1138								

21

Date: 4/2/2024

Time: 1:56:42 PM CDT

Page 147/148

R VIRDEN 2 COMMITTEEPERSON (REPUBLICAN) Reg. Total JAMES Over Under Voters Votes IBBERSON votes votes Jurisdiction Wide VIRDEN 2 1021 85 85 100.00% 21

1021

Total

85

85 100.00%

Date: 4/2/2024

Time: 1:56:42 PM CDT

Page 148/148

	R WESTERN MOUND COMMITTEEPERSON (REPUBLICAN)								
	Reg. Voters	Total Votes	No (Candidate	Over votes	Under			
Jurisdiction Wide		•							
WESTERN MOUND	192)	0	-	0	0		
Total	192	. ()	0	-	0	0		